normalized

35.8 tb'(13 TeV) 35.8 fb'(13 TeV)

0.035 - o 0.018r _
r CMS ef/u+jets — Correct b-jets o r CMS e/u+jets — Correct b-jets
0.03[ Simulation — Wrong b-jets = 0.016 — Simuiation — Wrong b-jets
- Preliminary £ 0.014 E  Preliminary
0.025 — 5] i -
L — c 0012 -
002 _ 0.01L -
0015 —— 0.008 -__
; = 0.006 - - -
0.01 — -_ ; = __
E _:_ 0.004 - _: -_
0.005F — 0.002F - - -
0:.”\.”|‘.‘|HT\_‘—.—.-'-:_‘_——-H— D:_:'.\.‘.m..uu.._.—v—.—q'__-""—-——
0 20 40 60 80 100 120 140 0 50 100 150 200 250 300 350 400
D, min [GeV] t. mass [GeV]
35.8 ib'(13 TeV)
o 08¢
@ E CMS e/u+jets — Correct b-jets
= 0.7 Simulation — Wrong b-jets
g E Preliminary
= 06F
8 & -
0.5 ;* —
045
0.3F _
0.2 —
VRIS -
D:' P IR Y |_\I_\._\T‘—v—::::—|————‘ I
6 8 10 12 14 16 18 20

An(hy)



